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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 35(11+12+12) gSaA  
 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 35(11+12+12) questions. 

 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kkijh{kkijh{kkijh{kk    ds mijkUr bl ds mijkUr bl ds mijkUr bl ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

 (i) ;g iz'u&i= rhu rhu rhu rhu Hkkxksa esa foHkkftr gS % 

  HkkxHkkxHkkxHkkx    –    v %v %v %v %    vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsA 

  HkkxHkkxHkkxHkkx    –    c %c %c %c %    dEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.kA 

        HkkxHkkxHkkxHkkx    –    llll    %%%%    dEI;wVjhÑr ys[kkaduA 

 (ii) Hkkx Hkkx Hkkx Hkkx – v vfuok;Z v vfuok;Z v vfuok;Z v vfuok;Z gSA ijh{kkFkhZ viuh bPNk ls Hkkx Hkkx Hkkx Hkkx – c c c c rFkk Hkkx Hkkx Hkkx Hkkx – llll esa ls dksbZ ,d,d,d,d Hkkx gy 
djsaA 

 (iii) lHkh lHkh lHkh lHkh iz'u gy djus gSaA izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 

 (iv) cgqfodYih; ç'u 1 ls 6 rd ds lghlghlghlgh fodYi pqfu, rFkk ç'u 12 ls 17 rd ds mÙkj ,d,d,d,d ;k 
nksnksnksnks 'kCnksa ;k;k;k;k okD;ksa esa ;k;k;k;k fjDr LFkkuksa dks Hkjdj nhft,A 'ks"k ç'uksa ds mÙkj muds vadksa ds vuqlkj 
nhft,A 

 (v) iz'u la[;k 11 rFkk 23 esa vkUrfjd NwV miyC/k gSA 
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General Instructions : 

 (i) This question paper is divided into three Parts :  

  Part – A : Not-for-Profit Organizations & Partnership Accounts. 

  Part – B : Company Accounts & Analysis of Financial Statements. 

  Part – C : Computerized Accounting. 

 (ii) Part – A is compulsory. Candidates have to attempt any one part from 

Part – B and Part – C of their choice.  

 (iii) All questions are to be attempted. Marks of each question are indicated 

against it.  

 (iv) Choose the correct options of the multiple choice type questions 1 to 6 and 

answer of questions 12 to 17 may be given in one or two words or 

sentences or by filling up the blanks. Answer the remaining questions 

according to their marks. 

 (v) Internal choice is available in Question Nos. 11 and 23. 

        Hkkx Hkkx Hkkx Hkkx –    vvvv    

     PART – A [ M. M. : 30 

¼¼¼¼vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrs½½½½    

(Not-for-Profit Organizations & Partnership Accounts) 

  1. lk>snkjh QeZ dk lekiu fdl n'kk esa ekuk tkrk gS \ 1 

 (A) lk>snkj dk izos'k gksus ij  

 (B) fdlh lk>snkj ds vodk'k xzg.k djus ij 

 (C) lk>snkjh dh vof/k lekIr gksus ij  

 (D) lk>snkjh esa gkfu gksus ij  
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 In which condition a partnership firm is deemed to be dissolved ?  

 (A) On a partner's admission  

 (B) On retirement of partner  

 (C) On expiry of partnership  

 (D) On loss in partnership  

  2. lekiu ij iw¡th [kkrksa ds vfUre 'ks"kksa dks gLrkarfjr fd;k tkrk gS % 1 

 (A) olwyh [kkrs esa  

 (B) jksdM+ [kkrs esa 

 (C) ykHk-gkfu [kkrs esa  

 (D) lk>snkjksa ds _.k [kkrksa esa  

 On dissolution, the final balance of capital accounts are transferred to : 

 (A) Realization Account 

 (B) Cash Account 

 (C) Profit & Loss Account 

 (D) Loan Account of Partners  

  3. fdlh lk>snkj dh e`R;q gksus ij mldks ns; iwjh jkf'k fdlds [kkrs esa ØsfMV dh tk;sxh \ 1 

 (A) lHkh lk>snkjksa ds iw¡th [kkrksa esa  

 (B) 'ks"k lk>snkjksa ds iw¡th [kkrksa esa  

 (C) mlds mÙkjkf/kdkjh ds [kkrs esa  

 (D) ljdkj ds vk; [kkrs esa  
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 On the death of a partner, the amount due to him will be credited to : 

 (A) All partners' Capital Account  

 (B) Remaining partners' Capital Account  

 (C) His Executor's Account  

 (D) Government's Revenue Account  

  4. ^,*] ^ch* rFkk ^lh* lk>snkj gSa tks 1/2 : 1/4 : 1/4 ds vuqikr esa ykHk ck¡Vrs gSaA ^ch* ds vodk'k 
xzg.k ij u;k vuqikr gksxk % 1 

 (A) 2 : 4 

 (B) 1 : 2 

 (C) 2 : 1 

 (D) 
2

1
:

4

1   

 'A', 'B' and 'C' are partners sharing profits in the ratio of 1/2 : 1/4 : 1/4. New 

ratio on the retirement of 'B' will be : 

 (A) 2 : 4 

 (B) 1 : 2 

 (C) 2 : 1 

 (D) 
2

1
:

4

1
 

  5. ,d u, lk>snkj ds izos'k ij vko';d gS % 1 

 (A) fdlh Hkh ,d lk>snkj dh lgefr  
 (B) lk>snkjksa ds cgqer dh lgefr  
 (C) lHkh iqjkus lk>snkjksa dh lgefr  
 (D) iqjkus lk>snkjksa ds 2/3 lk>snkjksa dh lgefr  
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 Admission of a new partner requires : 

 (A) The consent of any one partner  

 (B) The consent of majority of partners  

 (C) The consent of all old partners  

 (D) The consent of 2/3rd of old partners  

  6. tc ,d u;k lk>snkj vius fgLls dh [;kfr udn :i esa ugha ykrk gS] rks ml jkf'k dks MsfcV djsaxs % 1 

 (A) jksdM+ [kkrk esa  

 (B) u;s lk>snkj ds pkyw [kkrs esa  

 (C) izhfe;e [kkrs esa  

 (D) iqjkus lk>snkjksa ds iw¡th [kkrs esa  

 When a new partner does not bring his share of goodwill in cash, the amount is 

debited to :  

 (A) Cash Account 

 (B) Current Account of New Partner  

 (C) Premium Account 

 (D) Capital Accounts of old Partners  

  7. lk>snkj dk pkyw [kkrk fdls dgrs gSa \ pkyw [kkrs ds MsfcV i{k dh nksnksnksnks ensa fyf[k,A  2 

 What is Partner's Current Account ? Write two items of Debit side of Current 

Accounts.  
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  8. ^,*] ^ch* rFkk ^lh* ykHk-gkfu dks 2 : 1 : 2 ds vuqikr esa ck¡Vrs gq, lk>snkj gSaA mudh LFkk;h iw¡ft;k¡ 
Øe'k% 1,80,000 ` ; 60,000 ` rFkk 1,20,000 ` FkhA 31-3-2021 dks iw¡th ij C;kt 10% 
izfro"kZ dh vis{kk 9% izfro"kZ dh nj ls yxk;k x;kA vko';d lek;kstu izfof"V djsaA 4 

 'A', 'B' and 'C' are partners sharing profit & loss in the ratio of 2 : 1 : 2. Their 

fixed capitals were ` 1,80,000 ; ` 60,000 and ` 1,20,000. Interest on capital for 

the year ended on 31-3-2021 was credited to them @ 9% p.a. instead of 10% p.a. 

Pass necessary adjustment entry.   

  9. fuEufyf[kr lwpukvksa dks ,d [ksy Dyc ds fpV~Bs esa vki fdl izdkj n'kkZ,¡xs \ 4 

         ` 

 (i) izfr;ksfxrk O;; % 30,000 

 (ii) izfr;ksfxrk dks"k % 2,00,000 

 (iii) izfr;ksfxrk dks"k fofu;ksx % 2,00,000 

 (iv) rSjus dk rkykc cukus ds fy, nku % 3,00,000 

 (v) ljdkjh ck.M~l % 50,000 

 How will you show the following informations in the Balance Sheet of a Sports 

Club ? 

                                       ` 

 (i) Tournament Expenses  : 30,000 

 (ii) Tournament Fund  : 2,00,000 

 (iii) Tournament Fund Investments  : 2,00,000 

 (iv) Donation for the Swimming Pool Construction : 3,00,000 

 (v) Government Bonds  : 50,000 
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10. 1-4-2021 dks ,d pkyw QeZ dh lEifÙk;k¡ 5,00,000 ` Fkha ftlesa 20,000 ` dh jksdM+ Hkh 'kkfey 

FkhA QeZ ds lkekU; lap; 90,000 ` ds] lk>snkjksa ds iw¡th [kkrksa ds 'ks"k 3,80,000 ` vkSj ysunkj 

30,000 ` ds FksA ;fn izR;k; dh lkekU; nj 20% gks vkSj pkj o"khZ; Ø; ij QeZ dh [;kfr dk ewY; 

64,000 ` gks] rks QeZ ds vkSlr ykHk çkIr dhft,A 4 

 On 1-4-2021, an existing firm had assets of ` 5,00,000 including cash of ` 20,000. 

The firm had a General Reserve of ` 90,000, partner's capital accounts showed a 

balance of ` 3,80,000 and creditors amounted to ` 30,000. If the normal rate of 

return is 20% and the goodwill is valued at ` 64,000 at 4 years purchase of 

Super Profit, then find the average profits of the firm.  

11. ^,Dl* rFkk ^okbZ* lk>snkj gSa tks fd ykHkksa dks 5 : 3 ds vuqikr esa ck¡Vrs gSaA mudk fLFkfr fooj.k fuEu 
izdkj gS % 

nkf;Ronkf;Ronkf;Ronkf;Ro    `̀̀̀ lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡    `̀̀̀ 

ysunkj 

deZpkjh {kfriwfrZ lap; 

^tsM* dk _.k [kkrk 

iw¡th %    'X' 

iw¡th %    'Y' 

 

28,000 

12,000 

30,000 

50,000 

40,000 

cSad esa jksdM+ 

nsunkj            40,000 

çko/kku ?kVk;k  – 1,800 

LVkWd 

fofu;ksx 

[;kfr 

la;a= 

15,800 

 

38,200 

56,000 

10,000 

10,000 

30,000 

 1,60,000  1,60,000 
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 ^tsM* fuEu 'krksZa ij lk>snkjh esa izos'k djrk gS % 

 (i) ^,Dl*] ^okbZ* rFkk ^tsM* dk u;k ykHk vuqikr 4 : 3 : 2 gksxkA 

 (ii) ^tsM* dh _.k dks mldh iw¡th ekuk tk;sxkA 

 (iii) QeZ dh [;kfr dk ewY;kadu 27,000 ` fd;k x;kA 

 (iv) ^,Dl* vkSj ^okbZ* us 8,000 ` dk fofu;ksx vius ykHk-gkfu vuqikr esa ys fy;kA 

 (v) jgfr;s dk ewY; 10% ls de dj fn;k tk;sA 

 (vi) lafnX/k _.kksa dk izko/kku nsunkjksa ij 5% rFkk nsunkjksa ij 2% dVkSrh dk izko/kku Hkh fd;k tk;sxkA 

 (vii) deZpkjh {kfriwfrZ lap; dk nkf;Ro 15,000 ` fu/kkZfjr fd;k x;kA 

 (viii) ^,Dl* 6,000 ` udn fudky ysxkA 

 iquewZY;kadu [kkrk] lk>snkjksa ds iw¡th [kkrs rFkk fpV~Bk cukb,A 10 

 'X' and 'Y' are in partnership, sharing profits in the ratio of 5 : 3. Their Balance 

Sheet is as follows :   

Liabilities `̀̀̀ Assets `̀̀̀ 

Creditors 

Workmen's Compensation Reserve  

Z's Loan A/c 

Capitals :   'X' 

Capitals :   'Y' 

28,000 

12,000 

30,000 

50,000 

40,000 

Cash at Bank 

Debtors 40,000 

Less Provision  

– 1,800 

Stock 

Investment 

Goodwill 

Plant 

15,800 

 

 

38,200 

56,000 

10,000 

10,000 

30,000 

 1,60,000  1,60,000 
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 'Z' is admitted into partnership on the following terms : 

 (i) The new ratio will be 4 : 3 : 2 between 'X', 'Y' and 'Z'.  

 (ii) Z's loan should be treated as his Capital.  

 (iii) Goodwill of the firm is valued at ` 27,000. 

 (iv) ` 8,000 of investments were to be taken over by 'X' and 'Y' in their profit 

sharing ratio.   

 (v) Stock is to be reduced by 10%.  

 (vi) Provision on debtors should be 5% for doubtful debts and 2% for discount 

on debtors should be made.  

 (vii) The liability for workmen compensation was determined to be ` 15,000. 

 (viii) 'X' is to withdraw ` 6,000 in cash.  

 Prepare Revaluation Account, Partners' Capital Accounts and Balance Sheet. 

vFkokvFkokvFkokvFkok    

OR 

    QeZ ls fdlh lk>snkj ds vodk'k xzg.k djus ij lEifÙk;ksa ,oa nkf;Roksa dk iquewZY;kadu D;ksa fd;k tkrk gS \ 
dkYifud enksa dh lgk;rk ls ,d mnkgj.k ds lkFk iquewZY;kadu [kkrk cukb,A 

 Why are assets and liabilities revalued at the time of retirement of a partner ? 

Prepare Revaluation Account with the help of an example by taking imaginary 

figures.   
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        Hkkx Hkkx Hkkx Hkkx –    cccc    

     PART – B [ M. M. : 30 

¼¼¼¼dEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.k½½½½    

(Company Accounts & Analysis of Financial Statements) 

12. ^vf/kÑr iw¡th* rFkk ^fuxZfer iw¡th* esa ,d,d,d,d vUrj nhft,A  1 

 Give one point of distinction between Authorized Capital and Issued Capital.  

13. ^'kks/; _.ki=* ls D;k vfHkizk; gS \ 1 

 What is meant by 'Redeemable Debenture' ? 

14. _.ki=ksa ds 'kks/ku ds fy, foÙk ds nksnksnksnks lk/kuksa ds uke fyf[k,A 1 

 Name two sources of finance for redemption of debentures.  

15. foÙkh; fooj.kksa ds fo'ys"k.k ds dksbZ nksnksnksnks ykHk crkb,A  1 

 List any two uses of analyzing of financial statements.  

16. foÙkh; fo'ys"k.k ds nksnksnksnks    midj.kksa ds uke crkb,A  1 

 Name two tools for Financial Analysis.  

17. rjy vuqikr D;k gS \ 1 

 What is Liquid Ratio ? 
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18. ,d QeZ dh pkyw lEifÙk;k¡ 2,00,000 ` FkhA blds ckn blus 40,000 ` ds pkyw nkf;Ro dk Hkqxrku 
dj fn;kA bl Hkqxrku ds ckn bldk pkyw vuqikr 2 : 1 FkkA Hkqxrku ds ckn pkyw nkf;Ro vkSj dk;Z'khy 
iw¡th Kkr dhft,A 2 

 A firm had current assets of ` 2,00,000. It then paid a current liability of ` 40,000. 

After this payment the current ratio was 2 : 1. Determine the size of current 

liabilities and working capital after the payment.  

19. _.ki=ksa ds ^izhfe;e ij fuxZeu* vkSj ^'kks/ku ij izhfe;e* esa nksnksnksnks vUrj fyf[k,A   2 

 Mention two differences between 'Premium on issue of debentures' and 

'Premium on redemption of debentures'.   

20. 'X fyfeVsM* us 10 ` okys 300 va'kksa dk vigj.k fd;k] ftu ij 7 ` izfr va'k ek¡xs x, gSa vkSj izFke 
;kpuk ds 2 ` izkIr ugha gq,A vigj.k dh izfof"V dhft,A  2 

 'X Ltd' forfeited 300 shares of ` 10 each, ` 7 called up, for non-payment of 1st call 

of ` 2 per share. Pass entry for forfeiture of share.  

21. ^lapkyu lEcfU/kr fØ;kvksa ls jksdM+ izokg* ds fdUgha pkjpkjpkjpkj enksa dk o.kZu dhft,A 4 

 Explain any four items of 'cash flow from operating activities'.  

22. LVkWd vkorZ vuqikr Kkr djsa % 4 

 (i) lapkyu fØ;kvksa ls vkxe  % 2,00,000 ` 

 (ii) ldy ykHk % 25% ykxr ij 

 (iii) izkjafHkd jgfr;k] vfUre jgfr;k dk 
3

1  Hkkx gSA 

 (iv) vfUre jgfr;k] lapkyd fØ;kvksa ls vkxe dk 30% gSA 
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 Calculate Inventory Turnover Ratio : 

 (i) Revenue from operations : ` 2,00,000 

 (ii) Gross profit 25% on cost. 

 (iii) Opening inventory was 
3

1
rd of Closing Inventory.  

 (iv) Closing Inventory was 30% of revenue from operations. 

23. 30 twu] 2021 dks ^, fyfeVsM* dh iqLrdksa esa fuEu 'ks"k Fks % 

          ` 

 (i) 12% _.ki=   7,00,000 

 (ii) _.ki= 'kks/ku dks"k   5,60,000 

 (iii) _.ki= 'kks/ku dks"k fofu;ksx ¼vafdr ewY; 6,16,000 `½ 5,60,000 

 (iv) izfrHkwfr izhfe;e lap;   9,000 

 (v) cSad 'ks"k    2,80,000 

 mijksDr frfFk dks lapkydksa us _.ki=ksa dk 'kks/ku 2% izhfe;e ij dj fn;k rFkk blds fy, fofu;ksxksa dks 

95% ij csp fn;kA vko';d [kkrs rS;kj djsaA  10 

 On 30 June, 2021, the books of 'A Ltd.' showed the following balances : 

             ` 

 (i) 12% debenture   7,00,000 

 (ii) Debenture Redemption Fund   5,60,000 
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 (iii) Debenture Redemption Fund Investment  

                              (Face Value ` 6,16,000) 5,60,000 

 (iv) Securities Premium Reserve   9,000 

 (v) Bank Balance   2,80,000 

 On the above date directors redeemed the debentures at 2% premium and for 

this purpose investments were sold at 95%. Prepare necessary ledger accounts.   

vFkokvFkokvFkokvFkok    

OR 

 va'kksa ds leewY; ,oa izhfe;e ij fuxZeu ls vki D;k le>rs gSa \ bl laca/k esa D;k-D;k ys[kk izfof"V;k¡ 
dh tkrh gSa \ 

 What do you understand by issuing of shares at par and at premium ? What 

accounting entries are made in this connection ? 

        Hkkx Hkkx Hkkx Hkkx –    llll    

     PART – C  [M. M. : 30 

¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½    

(Computerized Accounting) 

12. ,d detksj bdkbZ ds fy, ,d oSdfYid uke D;k gS \ 1 

 What is an alternative name for a weak entity ? 
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13. MsVk dks Dosjh djus dh {kerk] lkFk gh VqiYl dks lfEefyr djus] cnyus vkSj gVkus dh {kerk dkSu 

iznku djrk gS \ 1 

 …………… offers the ability to query the data and insert, alter and delete tuples.   

14. DBMS dk D;k vFkZ gS \ 1 

 What is DBMS ? 

15. igyk DBMS fdlus cuk;k Fkk \ 1 

 Who created the first DBMS ? 

16. DBMS esa fdl QkWesZV esa MkVk LVksj gksrk gS \ 1 

 In which format data is stored in DBMS ? 

17. MkVk ds ckjs esa tkudkjh D;k dgykrh gS \ 1 

 What is information about data called ? 

18. dEI;wVjhÑr ys[kkadu dh dksbZ nksnksnksnks lhek,¡ crkb,A 2 

 Give two limitations of a Computerized Accounting System. 

19. vuqdwfyr lkW¶Vos;j ds nksnksnksnks Qk;ns crkb,A 2 

 State two advantages of Customized Software.  

20. òksr ys[kkadu lkW¶Vos;j esa dkSu-ls dkjdksa ij fopkj fd;k tkuk pkfg, \ 2 

 What are the factors to be considered while source accounting software ?  
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21. ^QkWeZ* cukus ds fofHkUu rjhdksa dk o.kZu dhft,A  4 

 Explain the various methods of preparing 'Form'.  

22. Access Database esa fjiksVZ fMtkbu djus ds vk/kkj crkb,A   4 

 Explain the basis of designing report in Access Database.  

23. LizsM'khV D;k gS \ bysDVªkWfud LizsM'khV ds mi;ksxksa dk o.kZu dhft,A 10 

 What is Spreadsheet ? Give applications of Electronic Spreadsheet.  

vFkokvFkokvFkokvFkok    

OR 

 bysDVªkWfud LizsM'khV ds dk;ksZa dk o.kZu dhft,A 

 Explain the functions of Electronic Spreadsheet.  

S 


